Advances in Mathematics: Scientific Journal **9** (2020), no.8, 5891–5900 ISSN: 1857-8365 (printed); 1857-8438 (electronic) https://doi.org/10.37418/amsj.9.8.56 Special Issue on ICMA-2020

INFINITE SERIES OF FRACTIONAL ORDER OF FIBONACCI DELTA OPERATOR AND ITS SUM

V. REXMA SHERINE¹, T.G. GERLY, AND G. BRITTO ANTONY XAVIER

ABSTRACT. In this paper, we derive numerical and closed form solutions of fractional order Fibonacci difference equation and Generalized infinite series of fractional Fibonacci summation formula using forward Fibonacci delta operator with several parameters and its inverse on real valued functions. Suitable examples are provided to illustrate our findings.

1. INTRODUCTION

In [6], Miller and Rose develop the discrete type of Riemann-Liouville fractional derivative and give some properties of fractional difference operator. In [7], Jerzy Popenda develop a special type of alpha difference operator as $\Delta_{\alpha}f(t) = f(t+1) - \alpha f(t)$. The authors in [8], have extended the delta alpha operator to generalized α -difference operator as $\Delta_{\alpha}f(t) = f(t+\ell) - \alpha f(t)$, for any real valued function f(t). The authors in [9] introduced the *q*-difference operator as $\Delta_q f(t) = f(tq) - f(t)$ and the difference operator $\Delta_{t(\ell)}$ with variable coefficients as $\Delta_{t(\ell)} f(t) = f(t+\ell) - tf(t)$.

These operators motivate us to develop the following forward Fibonacci delta operator. The generalized forward Fibonacci delta operator with several parameters $\alpha = (\alpha_1, \alpha_2, \cdots, \alpha_n)$ on a real valued function is defined by

(1.1) $\Delta_{(\alpha)\ell} f(t) = f(t+n\ell) - \alpha_1 f(t+(n-1)\ell) - \alpha_2 f(t+(n-2)\ell) - \dots - \alpha_n f(t)$

¹corresponding author

²⁰¹⁰ Mathematics Subject Classification. 34, 39A12.

Key words and phrases. Fibonacci operator, Fractional Fibonacci sum, Infinite series.

To develop the higher order forward Fibonacci difference and its inverse difference (sum), we consider the following basic definitions of generalized α difference operators and its inverses. For more study on generalized difference operator, one can refer [1–5] and their references.

2. Preliminaries

In the theory of difference equations, usually the domain space of given function is a countable set. But, here we take uncountable domain set J_{ℓ} , which is defined below, and present basic definition of alpha delta operator and its inverse.

Definition 2.1. Let $\ell > 0$, J_{ℓ} be any subset of R such that $t \in J_{\ell}$ implies $t \pm \ell \in J_{\ell}$ and $f, g : J_{\ell} \to R^m$ be a function. Then the generalized alpha delta operator $\Delta_{(\alpha)\ell}$ on f(t) is defined as

(2.1)
$$\Delta_{(\alpha)\ell}f(t) = f(t+\ell) - \alpha f(t), \ t \in J_{\ell},$$

(2.2)
$$\Delta_{(\alpha)-\ell}f(t) = f(t-\ell) - \alpha f(t), \ t \in J_{\ell}.$$

If there exists a function $g: J_{\ell} \to R^m$ such that $\Delta_{(\alpha)\ell} y(t) = x(t), t \in J_{\ell}$, then we write $y(t) + c = \Delta_{\alpha(\ell)}^{-1} x(t), c$ is constant, and

$$y(t)||_{a}^{k} = \Delta_{(\alpha)\ell}^{-1} x(t)||_{a}^{k} = y(k) - \alpha y(a) = \Delta_{(\alpha)\ell}^{-1} x(k) - \alpha \Delta_{\ell}^{-1} x(a), \ a, k \in J_{\ell}.$$

Similarly, if
$$\Delta_{(\alpha)-\ell}y(t) = x(t), t \in J_{\ell}$$
, then $\Delta_{(\alpha)-\ell}^{-1}x(t) = y(t) + c$ and

$$\Delta_{(\alpha)-\ell} x(t) ||_a^k = \Delta_{(\alpha)-\ell}^{-1} x(k) - \alpha \Delta_{(\alpha)-\ell}^{-1} x(a) = y(k) - \alpha y(b), \ a, k \in J_{\ell}.$$

Example 2.2. Let $\ell > 0$, $\ell Z = 0, \pm \ell, \pm 2\ell, \cdots$, and take $J_{\ell} = R - \ell Z$. Define $f(t) : J_{\ell} \to R^3$ by

(2.3)
$$f(t) = (2^t, \frac{1}{2^t}, (1+\ell)^{\frac{t}{\ell}}), \ t \in J_\ell$$

Component wise applying $\Delta_{(\alpha)\ell}$ leads to define

$$\Delta_{(\alpha)\ell} 2^t = 2^{t+\ell} - \alpha 2^t = 2^t (2^\ell - \alpha),$$

$$\Delta_{(\alpha)\ell} \frac{1}{2^t} = \frac{1}{2^{t+\ell}} - \alpha \frac{1}{2^t} = \frac{1}{2^t} \left[\frac{1}{2^\ell} - \alpha \right] = \frac{1}{2^t} (2^{-\ell} - \alpha)$$

and

$$\Delta_{(\alpha)\ell} (1+\ell)^{\frac{t}{\ell}} = (1+\ell)^{\frac{t+\ell}{\ell}} - \alpha (1+\ell)^{\frac{t}{\ell}} = (1+\ell)^{\frac{t}{\ell}} \Big[(1+\ell) - \alpha \Big].$$

yields

(2.4)
$$\Delta_{(\alpha)\ell} f(t) = \left(2^t (2^\ell - \alpha), \frac{1}{2^t} (2^{-\ell} - \alpha), (1+\ell)^{\frac{t}{\ell}} ((1+\ell) - \alpha) \right)$$

and

(2.5)
$$\Delta_{(\alpha)-\ell}f(t) = \left(2^t(2^{-\ell}-\alpha), \frac{1}{2^t}(2^\ell-\alpha), (1+\ell)^{\frac{t}{\ell}}((1+\ell)^{-1}-\alpha)\right),$$

where $J_{-\ell} = R - (-\ell) Z = R - \ell Z$.

From (2.4) and (2.5), we find that

(2.6)
$$\Delta_{(\alpha)\ell}^{-1}\left(2^{t}, \frac{1}{2^{t}}, (1+\ell)^{\frac{t}{\ell}}\right) = \left(\frac{2^{t}}{(2^{\ell}-\alpha)}, \frac{1}{2^{t}}\frac{1}{(2^{-\ell}-\alpha)}, \frac{(1+\ell)^{\frac{t}{\ell}}}{((1+\ell)-\alpha)}\right).$$

It is clear that, if $f(t) = (f_1(t), f_2(t), f_3(t), \cdots, f_n(t)) \in \mathbb{R}^n$ and

$$g(t) = \left(g_1(t), g_2(t), g_3(t), \cdots, g_n(t)\right) \in \mathbb{R}^n$$

such that $\Delta_{(\alpha)\pm\ell}g(t) = f(t), \ t \in J_{\ell}$, then

$$\Delta_{(\alpha)\pm\ell}^{-1}f(t)||_{t=a}^{k} = g(t)||_{t=a}^{k} = \left(g_{1}(t)||_{a}^{k}, g_{2}(t)||_{a}^{k}, \cdots, g_{n}(t)||_{a}^{k}\right).$$

The above expression states that taking component wise inverse principle is sufficient for vector valued functions. Hence, we deals with real valued functions.

Next, we extend the alpha difference operator to its inverse operator.

Definition 2.3. If $\Delta_{(\alpha)\ell}g(t)$, then $g(t) = \Delta_{(\alpha)\ell}^{-1}f(t)$ and

(2.7)
$$\Delta_{(\alpha)\ell}^{-1}f(t)\Big|\Big|_{t}^{t-m\ell} := \Delta_{\alpha(\ell)}^{-1}f(t) - \alpha^{m}\Delta_{\alpha(\ell)}^{-1}f(t-m\ell) = \sum_{r=1}^{m} \alpha^{r-1}f(t-r\ell),$$

where by convention $\sum_{t=c}^{c-k} := 0$ whenever $k \in N$.

Example 2.4. Applying inverse principle to equation (2.7), taking $f(t) = 3^t$ and

(2.8)
$$\Delta_{(\alpha)\ell}^{-1} 3^t \Big|_t^{t-m\ell} := \Delta_{(\alpha)\ell}^{-1} 3^t - \alpha^m \Delta_{(\alpha)\ell}^{-1} 3^{t-m\ell} = \sum_{r=1}^m \alpha^{r-1} 3^{t-m\ell}.$$

Using (2.6) in L.H.S of (2.8) and then expanding the R.H.S of (2.8), we get

$$\frac{1}{3^{\ell} - \alpha} \left[3^{t} - \alpha^{m} 3^{t-m\ell} \right] = 3^{t-\ell} + \alpha 3^{t-2\ell} + \alpha^{2} 3^{t-3\ell} + \dots + \alpha^{m-1} 3^{t-m\ell}.$$

Take $t = 4, m = 2, \alpha = 1$ and $\ell = 1$

$$\frac{1}{2} \left[3^4 - 3^2 \right] = 3^3 + 3^2 \Rightarrow \frac{1}{2} \left[81 - 9 \right] = 27 + 9 = \frac{1}{2} (72) = 36.$$

Thus, the Inverse principle satisfies the relation (2.8).

Corollary 2.5. If $\Delta_{(\alpha)\ell}g(t)$ and $g(-\infty) = 0$, then $g(t) = \Delta_{(\alpha)\ell}^{-1}f(t)$ and

(2.9)
$$\Delta_{(\alpha)\ell}^{-1} f(t) = \sum_{r=1}^{\infty} \alpha^{r-1} f(t - r\ell).$$

Proof. The proof follows by applying $\lim_{m \to \infty}$ in (2.7).

3. BASIC CONCEPTS OF FIBONACCI DELTA OPERATOR

Through out this paper, J_{ℓ} is a subset of R such that $t \in J_{\ell}$ implies $(t + \ell) \in J_{\ell}$. When $\alpha = (\alpha_1, \alpha_2, \dots, \alpha_n), n \ge 2$, then the corresponding alpha difference operator is called as Fibonacci delta operator.

Theorem 3.1. For any positive integer m, $(\alpha_1, \alpha_2) = \alpha$ and $\ell \neq 0$, we have (3.1)

$$\Delta^{m}_{(\alpha)\ell}f(t) = \begin{cases} \frac{n^{(m)}}{m!}\alpha^{m}_{1} - \frac{n^{(m-1)}}{(m-2)!}\alpha^{m-2}_{1}\alpha_{2} + \dots + (-1)^{\frac{m}{2}}\frac{n^{\frac{(m)}{2}}}{(\frac{m}{2})!}\alpha^{\frac{m}{2}}_{2}, & \text{if } m \text{ is even} \\ -\frac{n^{(m)}}{m!}\alpha^{m}_{1} + \frac{n^{(m-1)}}{(m-2)!}\alpha^{m-2}_{1}\alpha_{2} - \dots + (-1)^{\frac{m+1}{2}}\frac{n^{\frac{(m+1)}{2}}}{(\frac{m-1}{2})!}\alpha_{1}\alpha^{\frac{m-1}{2}}_{2}, & \text{if } m \text{ is odd} \end{cases}$$

Proof. The proof follows by applying $\Delta_{(\alpha)\ell}$ repeatedly on f(t) up-to m times. \Box

Example 3.2. Take m = 4 in (3.1), we get the values for first four series and remaining series becomes zero. Thus, the 4^{th} order $\Delta_{(\alpha)\ell}$ operator is

$$\Delta_{(\alpha)\ell}^{4}f(t) = f(t-\ell) - \frac{4^{(1)}}{1!}\alpha_{1}f(t-2\ell) + (\frac{4^{(2)}}{2!}\alpha_{1}^{2} - \frac{4^{(1)}}{1!}\alpha_{2})f(t-3\ell) + (-\frac{4^{(3)}}{2!}\alpha_{1}^{3} + \frac{4^{(2)}}{1!}\alpha_{1}\alpha_{2})f(t-4\ell) + (\frac{4^{(4)}}{4!}\alpha_{1}^{4} - \frac{4^{(3)}}{2!}\alpha_{1}^{2}\alpha_{2} + \frac{4^{(2)}}{2!}\alpha_{2}^{2})f(t-5\ell).$$

Hence, for any m^{th} order Fibonacci delta operator, we can easily obtain the series by applying (3.1).

4. INFINITE SERIES OF FRACTIONAL FIBONACCI SUM

Throughout this section, we assume that $\alpha = (\alpha_1, \alpha_2, \dots, \alpha_n)$, where each $\alpha_i < \ell, \ell \neq 0, \nu > 0$ and $f, g : J_\ell \to \mathbb{R}$ are two functions. Here, we derive the Generalized infinite fractional Fibonacci summation formula using Fibonacci delta operator.

Theorem 4.1. Let $\ell \neq 0$ be a real and $\alpha = (\alpha_1, \alpha_2)$, $\alpha_1, \alpha_2 < \ell$. If $\sum_{r=0}^{\infty} \alpha^r f(t - r\ell)$ converges, $\Delta_{(\alpha)\ell}^{\nu} g(t) = f(t)$ for $\nu > 0$ and $g(-\infty) = 0$, then $g(t) = \Delta_{(\alpha)\ell}^{-\nu} f(t)$ and

(4.1)
$$\Delta_{(\alpha)\ell}^{-\nu}f(t) = \sum_{r=0}^{\infty} \alpha_2^r \Delta_{(\alpha_1)\ell}^{-(r+1)} \Big(\Delta_{(\alpha)\ell}^{-(\nu-1)} f(t - (r+1)\ell) \Big).$$

Proof. For $\nu = 1$, and applying equation (1.1) on g(t) for n = 2, we get

(4.2)
$$f(t) = g(t+2\ell) - \alpha_1 g(t+\ell) - \alpha_2 g(t)$$

Replacing t by $t - 2\ell$ in (4.2), we obtain

(4.3)
$$g(t) = f(t - 2\ell) + \alpha_1 g(t - \ell) + \alpha_2 g(t - 2\ell).$$

Again, replacing t by $t - r\ell$ in (4.3) to get $g(t - r\ell)$ for $r = 1, 2, 3, 4, \cdots$ and then substituting all these values of $g(t - r\ell)$ again in (4.3) recursively, we arrive

$$g(t) = \left[f(t-2\ell) + \alpha_1 f(t-3\ell) + \alpha_1^2 f(t-4\ell) + \alpha_1^3 f(t-5\ell) + \alpha_1^4 f(t-5\ell) + \cdots \right] \\ + \alpha_2 \left[f(t-4\ell) + 2\alpha_1 f(t-5\ell) + 3\alpha_1^2 f(t-6\ell) + 4\alpha_1^3 f(t-7\ell) + 5\alpha_1^4 f(t-8\ell) \cdots \right] \\ + \alpha_2^2 \left[\frac{2^{(2)}}{2!} f(t-6\ell) + \frac{3^{(2)}}{2!} \alpha_1 f(t-7\ell) + \frac{4^{(2)}}{2!} \alpha_1^2 f(t-8\ell) + \frac{5^{(2)}}{2!} \alpha_1^3 f(t-9\ell) + \cdots \right] \\ + \alpha_2^3 \left[\frac{3^{(3)}}{3!} f(t-8\ell) + \frac{4^{(3)}}{3!} \alpha_1 f(t-9\ell) + \frac{5^{(3)}}{3!} \alpha_1^2 f(t-10\ell) + \frac{6^{(3)}}{3!} \alpha_1^3 f(t-11\ell) + \cdots \right] \\ + \cdots + \cdots$$

Since, $\Delta_{(\alpha_1)\ell}^{-1} f(t-\ell) = \sum_{r=2}^{\infty} \alpha_1^{r-2} f(t-r\ell)$ in (2.9) and $\Delta_{(\alpha_1,\alpha_2)\ell}^{-1} f(t) = g(t)$, the above expression becomes

$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-1} f(t) = \Delta_{(\alpha_1)\ell}^{-1} f(t-\ell) + \alpha_2 \Delta_{(\alpha_1)\ell}^{-2} f(t-2\ell) + \alpha_2^2 \Delta_{(\alpha_1)\ell}^{-3} f(t-3\ell) + \alpha_2^3 \Delta_{(\alpha_1)\ell}^{-1} f(t-4\ell) + \cdots$$

which is same as

(4.4)
$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-1}f(t) = \sum_{r=0}^{\infty} \alpha_2^r \Delta_{(\alpha_1)\ell}^{-(r+1)} f(t - (r+1)\ell).$$

Again, taking $\Delta^{-1}_{(\alpha_1,\alpha_2)\ell}$ on the both sides of equation (4.4), we get $\Delta_{(\alpha_1,\alpha_2)\ell}^{-2} f(t) = \Delta_{(\alpha_1,\alpha_2)\ell}^{-1} \{ \Delta_{(\alpha_1)\ell}^{-1} f(t-\ell) + \alpha_2 \Delta_{(\alpha_1)\ell}^{-2} f(t-2\ell) + \alpha_2^2 \Delta_{(\alpha_1)\ell}^{-3} f(t-3\ell) + \cdots \}.$ $\Delta_{(\alpha_1,\alpha_2)\ell}^{-2} f(t) = \{ \Delta_{(\alpha_1)\ell}^{-1} \left(\Delta_{(\alpha_1,\alpha_2)\ell}^{-1} f(t-\ell) \right) + \alpha_2 \Delta_{(\alpha_1)\ell}^{-2} \left(\Delta_{(\alpha_1,\alpha_2)\ell}^{-1} f(t-2\ell) \right) + \cdots \},$ which can be written in the form

(4.5)
$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-2} f(t) = \sum_{r=0}^{\infty} \alpha_2^r \Delta_{\alpha_1(\ell)}^{-(r+1)} \left(\Delta_{(\alpha_1,\alpha_2)\ell}^{-1} f(t - (r+1)\ell) \right).$$

Again, taking $\Delta_{(\alpha_1,\alpha_2)\ell}^{-1}$ on the both sides of equation (4.5), we get

$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-3} f(t) = \{ \Delta_{(\alpha_1)\ell}^{-1} \left(\Delta_{(\alpha_1,\alpha_2)\ell}^{-2} f(t-\ell) \right) + \alpha_2 \Delta_{(\alpha_1)\ell}^{-2} \left(\Delta_{(\alpha_1,\alpha_2)\ell}^{-2} f(t-2\ell) \right) + \cdots \},$$

which yields

(4.6)
$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-3} f(t) = \sum_{r=0}^{\infty} \alpha_2^r \Delta_{(\alpha_1)\ell}^{-(r+1)} \Big(\Delta_{(\alpha_1,\alpha_2)\ell}^{-2} f(t - (r+1)\ell) \Big).$$

In general, by taking $\Delta^{-1}_{(\alpha_1,\alpha_2)\ell}$ repeatedly on both sides of (4.3) up-to m times and continuing the above procedure, we arrive

(4.7)
$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-m} f(t) = \sum_{r=0}^{\infty} \alpha_2^r \Delta_{(\alpha_1)\ell}^{-(r+1)} \left(\Delta_{(\alpha_1,\alpha_2)\ell}^{-(m-1)} f(t-(r+1)\ell) \right)$$

The relation (4.7) is also valid for real $\nu > 0$ provided $\Delta_{(\alpha_1,\alpha_2)\ell}^{-\nu} f(t)$ should be existed and the proof follows by replacing m by ν in (4.7).

Example 4.2. In (4.1), take $f(t) = 2^t$, $\nu = 1.5$, $\alpha_1 = \alpha_2 = 1.5$, we obtain

(4.8)
$$\Delta_{(\alpha)\ell}^{-1.5} 2^t = \sum_{r=0}^{\infty} (1.5)^r \Delta_{1.5(\ell)}^{-(r+1)} \left(\Delta_{(\alpha)\ell}^{-(1.5-1)} 2^{t-(r+1)\ell} \right).$$

For n = 2 in (1.1), we get $\Delta_{(\alpha_1,\alpha_2)\ell} 2^t = 2^{t+2\ell} - \alpha_1 2^{t+\ell} - \alpha_2 2^t = 2^t (2^{2\ell} - \alpha_1 2^\ell - \alpha_2),$ which yields $\Delta_{(\alpha_1,\alpha_2)\ell}^{-1} 2^t = \frac{2^t}{2^{2\ell} - \alpha_1 2^\ell - \alpha_2}, \ \Delta_{(\alpha_1,\alpha_2)\ell}^{-2} 2^t = \frac{2^t}{(2^{2\ell} - \alpha_1 2^\ell - \alpha_2)^2}, \cdots$ and

(4.9)
$$\Delta_{(\alpha_1,\alpha_2)\ell}^{-\nu} 2^t = \frac{2^t}{(2^{2\ell} - \alpha_1 2^\ell - \alpha_2)^\nu}$$

Putting $\ell = 2$ and t = 5 in (4.9) and then substituting in L.H.S of (4.8), we arrive

(4.10)
$$\Delta_{(1.5,1.5)2}^{-1.5} 2^t \Big|_5 = \frac{2^t}{(2^4 - (1.5)2^2 - 1.5)^{1.5}} \Big|_5 = \frac{32}{24.781546} = 1.294736.$$

Expanding the R.H.S of equation (4.8), we obtain

INFINITE SERIES OF FRACTIONAL ORDER OF FIBONACCI...

$$\sum_{r=0}^{\infty} (1.5)^r \Delta_{(\alpha_1)2}^{-(r+1)} \left(\Delta_{(1.5,1.5)2}^{-0.5} 2^{t-(r+1)2} \right) \Big|_5 = \Delta_{(1.5)2}^{-1} \left(\Delta_{(1.5,1.5)2}^{-0.5} 2^{t-\ell} \right) \Big|_5 + \alpha_2 \Delta_{(1.5)2}^{-2} \left(\Delta_{(1.5,1.5)2}^{-0.5} 2^{t-2\ell} \right) \Big|_5 + \alpha_2^2 \Delta_{(1.5)2}^{-3} \left(\Delta_{(1.5,1.5)2}^{-0.5} 2^{t-3\ell} \right) \Big|_5 + \cdots$$

By definition 2.1 and by the use of (4.9), the right hand side of above relation becomes in the form

$$\frac{1}{(2^4 - (1.5)2^2 - 1.5)^{0.5}} \left(\frac{2^{t-2}}{(2^4 - 1.5)} + (1.5) \frac{2^{t-4}}{(2^4 - 1.5)^2} + (1.5)^2 \frac{2^{t-6}}{(2^4 - 1.5)^3} + \cdots \right) \Big|_5,$$

which gives $(0.342997)[3.2 + 0.48 + 0.072 + 0.0108 + 0.00162 + \cdots]$ and hence

(4.11)
$$\sum_{r=0}^{\infty} (1.5)^r \Delta_{(\alpha_1)2}^{-(r+1)} \left(\Delta_{(1.5,1.5)2}^{-0.5} 2^{t-(r+1)2} \right) \Big|_5 = 1.291269 + \cdots$$

Now, (4.8) *is verified by* (4.10) *and* (4.11)*.*

The following theorem is the Generalized Infinite Fractional Fibonacci Sum.

Theorem 4.3. Let $\alpha = (\alpha_1, \alpha_2, \dots, \alpha_n)$, $\alpha_1, \alpha_2, \dots, \alpha_n < \ell \neq 0$. If $\sum_{r=0}^{\infty} \alpha^r f(t - r\ell)$ converges, $\Delta_{(\alpha)\ell}^{\nu} g(t) = f(t)$ for $\nu > 0$ and $g(-\infty) = 0$, then $g(t) = \Delta_{(\alpha)\ell}^{-\nu} f(t)$ and

(4.12)
$$\Delta_{(\alpha)\ell}^{-\nu}f(t) = \sum_{r=\tau}^{\infty} \Big[\sum_{\tau=0}^{n-2} \alpha_{\tau+2}^r \Delta_{(\alpha_1)\ell}^{-(r+1)} \Big(\Delta_{(\alpha)\ell}^{-(\nu-1)} f(t - (r + \tau + n - 1)\ell) \Big) \Big].$$

Proof. Since $\Delta_{(\alpha_1,\alpha_2)\ell}^{-\nu} f(t)$ is already proved in Theorem 4.1. By applying n = 3 in (1.1) on g(t), we get $f(t) = g(t+3\ell) - \alpha_1 g(t+2\ell) - \alpha_2 g(t+\ell) - \alpha_3 g(t)$, and then replacing t by $t - 3\ell$, we arrive

(4.13)
$$g(t) = f(t - 3\ell) + \alpha_1 g(t - \ell) + \alpha_2 g(t - 2\ell) + \alpha_3 g(t - 3\ell).$$

Now, follow the steps just like the proof given in Theorem 4.1, we find

$$(4.14) \ \Delta_{(\alpha_1,\alpha_2,\alpha_3)\ell}^{-\nu} f(t) = \sum_{r=\tau}^{\infty} \left[\sum_{\tau=0}^{1} \alpha_{\tau+2}^r \Delta_{(\alpha_1)\ell}^{-(r+1)} \left(\Delta_{(\alpha_1,\alpha_2,\alpha_3)\ell}^{-(\nu-1)} f(t - (r + \tau + 2)\ell) \right) \right].$$

Next, by applying $\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell}$ on g(t), and then replacing t by $t - 4\ell$, we get (4.15) $g(t) = f(t - 4\ell) + \alpha_1 g(t - \ell) + \alpha_2 g(t - 2\ell) + \alpha_3 g(t - 3\ell) + \alpha_4 g(t - 4\ell)$.

From equation (4.15) and by the proof of Theorem 4.1, we obtain (4.16)

$$\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell}^{-\nu} f(t) = \sum_{r=\tau}^{\infty} \Big[\sum_{\tau=0}^{2} \alpha_{\tau+2}^{r} \Delta_{(\alpha_1)\ell}^{-(r+1)} \Big(\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell}^{-(\nu-1)} f(t - (r + \tau + 3)\ell) \Big) \Big].$$

Similarly, proceeding like this up-to $(\alpha_1, \alpha_2, \alpha_3, \cdots, \alpha_n)$ times, we get (4.12). \Box

Example 4.4. In (4.12), take $f(t) = 2^t$, $\nu = 3$, and n = 4, we get

(4.17)
$$\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell}^{-3} 2^t = \sum_{r=\tau}^{\infty} \bigg[\sum_{\tau=0}^{2} \alpha_{\tau+2}^r \Delta_{(\alpha_1)\ell}^{-(r+1)} \Big(\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell}^{-2} 2^{t-(r+\tau+3)\ell} \Big) \bigg].$$

For n = 4 in (1.1), we get $\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell} 2^t = 2^t (2^{4\ell} - \alpha_1 2^{3\ell} - \alpha_2 2^{2\ell} - \alpha_3 2^\ell - \alpha_4)$ and $\Delta_{(\alpha_1,\alpha_2,\alpha_3,\alpha_4)\ell}^{-1} 2^t = \frac{2^t}{2^{4\ell} - \alpha_1 2^{3\ell} - \alpha_2 2^{2\ell} - \alpha_3 2^\ell - \alpha_4}$. So, it is easy to obtain

(4.18)
$$\Delta_{(\alpha_1,\cdots,\alpha_4)\ell}^{-\nu} 2^t = \frac{2}{(2^{4\ell} - \alpha_1 2^{3\ell} - \alpha_2 2^{2\ell} - \alpha_3 2^\ell - \alpha_4)^{\nu}}$$

Taking t = 3, $\ell = 2$, $\alpha_1 = \cdots = \alpha_4 = 1.5$ in (4.18), and then substituting in (4.17), we arrive

(4.19)

$$\Delta_{(1.5,\cdots,1.5)2}^{-3}2^t\Big|_3 = \frac{2^t}{(2^8 - (1.5)2^6 - (1.5)2^4 - (1.5)2^2 - 1.5)^3}\Big|_3 = 3.770341 \times 10^{-6}.$$

Now, the expanded form of right hand side of equation (4.17) is

$$\sum_{r=0}^{\infty} (1.5)^r \Delta_{(1.5)2}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-(r+3)2} \right) \Big|_3 + \sum_{r=1}^{\infty} (1.5)^r \Delta_{(1.5)2}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.2)2}^{-2} 2^{t-(r+4)2} \right) \Big|_3$$
(4.20)
$$+ \sum_{r=2}^{\infty} (1.5)^r \Delta_{(1.5)2}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-(r+5)2} \right) \Big|_3$$

Consider the term $\sum_{r=0}^{\infty} (1.5)^r \Delta_{(1.5)2}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-(r+3)2} \right) \Big|_3$, which can be written in the form $(1.5)^0 \Delta_{(1.5)2}^{-1} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-6} \right) \Big|_3 + (1.5) \Delta_{(1.5)2}^{-2} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-8} \right) \Big|_3 + \dots$

While solving the above series and then substituting the values, we get

$$\frac{1}{(2^8 - (1.5)2^6 - (1.5)2^4 - (1.5)2^2 - 1.5)^2} \left[\frac{2^{-3}}{2^2 - 1.5} + (1.5) \frac{2^{-3}}{(2^2 - 1.5)^2} + \cdots \right] \text{ and}$$

$$(4.21) \qquad \sum_{r=0}^{\infty} (1.5)^r \Delta_{1.5(2)}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-(r+3)2} \right) \Big|_3 = 3.562386 \times 10^{-6} + \cdots$$

Now, consider the second and third term of (4.20) and proceeding the similar steps given above, we obtain

(4.22)
$$\sum_{r=1}^{\infty} (1.5)^r \Delta_{(1.5)2}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-(r+4)2} \right) \Big|_3 = 1.335079 \times 10^{-7} + \cdots$$

and

(4.23)
$$\sum_{r=2}^{\infty} (1.5)^r \Delta_{(1.5)2}^{-(r+1)} \left(\Delta_{(1.5,\cdots,1.5)2}^{-2} 2^{t-(r+5)2} \right) \Big|_3 = 5.007114 \times 10^{-9} + \cdots$$

Hence, equation (4.17) is verified by (4.19), (4.21), (4.22) and (4.23).

5. CONCLUSION

We have developed the certain formulas for finding the value of infinite series by using numerical and closed form solutions of fractional order forward Fibonacci difference equation. In our example, we have applied fractional order Fibonacci forward difference operators with several variables on geometric functions.

6. ACKNOWLEDGEMENT

The Author, Dr. G. Britto Antony Xavier gratefully acknowledges Sacred Heart College for the award of Don Bosco Grant Fellowship: SHC/DB Grant/2019-21/05.

REFERENCES

- C. GOODRICH, A.C. PETERSON: *Discrete Fractional Calculus*, Springer International Publishing Switzerland(2015) (e-book). DOI:10.1007/978-3-319-25562-0
- [2] I. PODLUBRY: Fractional differential equations: an introduction to fractional derivatives, fractional differential equations to methods of their solution and some of their applications, Academic Press, California, 1998.
- [3] T. SATHIYARAJ, P. BALASUBRAMANIAM: controllability of Hilfer fractional stochastic system with multiple delays and poisson jumps, The European physical Journal, Special Topics, 228 (2019), 245-260.
- [4] G. BRITTO ANTONY XAVIER, V. CHANDRASEKAR, S.U. VASANTHAKUMAR, B. GOVIN-DAN, *Discrete Gamma* (*Factorial*) *Function and its Terms of a Generalized Difference Operator*, Advances in Numerical Analysis, **2012** (2012), ID 780646, 13 pages.

5900 V. REXMA SHERINE, T.G. GERLY, AND G. BRITTO ANTONY XAVIER

- [5] M. MARIA SUSAI MANUEL, G. BRITTO ANTONY XAVIER, E. THANDAPANI: Theory of Generalized Difference Operator and Its Applications, Far East Journal of Mathematical Sciences, 20(2) (2006), 163-171.
- [6] K.S. MILLER, B. ROSS: *Fractional difference calculus*, In "Univalent functions, fractional calculus, and the applications (Koriyama, 1988)", Horwood, Chichester, (1989), 139-152.
- [7] J. POPENDA, B. SZMANDA: On the Oscillation of Solutions of Certain Difference Equations, Demonstratio Mathematica, XVII(1) (1984), 153-164.
- [8] M. MARIA SUSAI MANUEL, V. CHANDRASEKAR, Solutions and Applications of Certain Class of α -Difference Equations, Int. Joul of Applied Mathematics, **24**(6) (2011), 943-954.
- [9] G. BRITTO ANTONY XAVIER, T.G. GERLY, H. NASIRA BEGUM: Finite series of polynomials and polynomial Factorials arising from Generalized *q*-Difference operator, Far East Journal of Mathematical Sciences, **94**(1)(2014), 47-63.

DEPARTMENT OF MATHEMATICS, SACRED HEART COLLEGE, TIRUPATTUR, TIRUPATTUR DISTRICT, TAMIL NADU, S.INDIA. *Email address*: rexmaprabu123@gmail.com

DEPARTMENT OF MATHEMATICS, SACRED HEART COLLEGE, TIRUPATTUR, TIRUPATTUR DISTRICT, TAMIL NADU, S.INDIA. *Email address*: tgp.gerlyjose@yahoo.com

DEPARTMENT OF MATHEMATICS, SACRED HEART COLLEGE, TIRUPATTUR, TIRUPATTUR DISTRICT, TAMIL NADU, S.INDIA. *Email address*: brittoshc@gmail.com